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~java.util.concurrent.cCallable : Represents a task that returns a result and may throw an exceptior

Callable<String> task = () -> {
Thread.sleep(1000);
return "Task completed”;

3

Future<String> future =

Executors.newSingleThreadExecutor().submit(task);
String result = future.get();

12. ~java.util.concurrent.RunnableFuture : Represents a combination of a “Runnable™ and a ~Future"

RunnableFuture<String> task = new AsyncTask<>();

new Thread(task).start();
String result = task.get();




image7.png
public static void main(String[] args) {
List<Integer> numbers = List.of( 1, 2, 3, 4, 5 );
Function<Integer, Integer> multiplyBy1@ = number -> number x 10;
UnaryOperator<Integer> multiplyByTen = number -> number * 10;

List<Integer> newList = numbers
.stream()
.map ( _.compose( multiplyBy10 ) )
.collect(Collectors.toList());
printList(newlList);
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Predicate<T> —— boolean test(T t)
Consumer<T> — void accept(T t)
Function<T,R> — R apply(T t)

Supplier<T> —— T get()
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5. UnaryOperator: Represents a function that takes an argument of a certain type and produces
a result of the same type.

UnaryOperator<Integer> square = num -> num * num;

6. BinaryOperator: Represents a function that takes two arguments of the same type and
produces a result of the same type.

BinaryOperator<Integer> sum = (numl, num2) -> numl + num2;
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1. ~java.lang.Runnable : Represents a task that can be executed asynchronously.

Runnable task = () -> System.out.println("Task executed");
new Thread(task).start();

2. ~java.util.function.Consumer™: Represents an operation that accepts an input argument and returns no

result.

Consumer<String> printer = System.out::println;

printer.accept(”Hello");

3. ~java.util.function.Supplier : Represents a supplier of results.

Supplier<String> nameSupplier = () -> "John";

String name = nameSupplier.get();

4. ~java.util.function.Function™: Represents a function that accepts an input argument and produces a

result.
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5. ~java.util.function.Predicate : Represents a predicate (boolean-valued function) of one argument.

Predicate<Integer> evenPredicate = n -> n % 2 o;

boolean isEven = evenPredicate.test(4);

6. ~java.util.function.BiConsumer™: Represents an operation that accepts two input arguments and returns

no result.

BiConsumer<String, Integer> greetingPrinter = (name, count) -> System.out.println(name + + ‘cour

greetingPrinter.accept(”"Hello", 3);

7. ~java.util.function.BiFunction™: Represents a function that accepts two arguments and produces a

result.

BiFunction<Integer, Integer, Integer> sumFunction = Integer::sum;

int result = sumFunction.apply(3, 5);
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8. ~java.util.function.BiPredicate : Represents a predicate (boolean-valued function) of two arguments.

BiPredicate<String, String> equalsPredicate = String::equals;

boolean isEqual = equalsPredicate.test("Hello", "Hello");

9. ~java.util.Comparator : Used for comparing objects to impose an ordering.

Comparator<String> lengthComparator = String::compareToIgnoreCase;

List<String> sorted = List.of("apple”, "banana"”, "cherry").sorted(lengthComparator);

10. ~java.lang.reflect.InvocationHandler™ : Handles method invocations on a proxy instance and defines the

action for each method.

InvocationHandler handler = (proxy, method, args) -> {
if (method.getName().equals("sayHello™)) {
return "Hello™;
¥
return null;
35
Hello proxy = (Hello) Proxy.newProxyInstance(Hello.class.getClasslLoader(), new Class[] { Hello.class

String greeting = proxy.sayHello();




